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Group-l| i Paper.|
Objective Type)| Max Marks: 15

Note: Four possible answers A, B, C and D to each
question are given. The choice which you think jg 5%

correct. fill that circle in front of that question with
Marker or Pen ink in the answer-book. Cutting or
filling two or more circles will result in zero mark in

that question.
1-1- The idea of matrices was given by ----:

(a) Arthur Cayley v(b) Brguiz

(c) Al-Khawrzmi  (d) Jan Nipper
2- 7-\/5 is usually written as:

(a) (a)? (b Wa)Y

() (a)y (d) \/a?

3- log, a x log_b can be written as:

Math (Sclence
Time: 20 Minutes

(@) log, C (b) log, C
(c) log, b (d) log.a v
4- x =0 is a solution of the inequality ----
(@) x>0 (b) 3x+5<0
(c) x+2<0 d) x-2<0V

5- The factors of x2 — 5x + 6 are:
(@) (x+1),(x-6) (b) (x-2),(x-3)V
(c) (x+6),(x=-1) (d) (x+2),(x+3)
6- The formula of H.C.F. of two polynomials p(x)
and q(x) is:

p(x) x q(x) L.C.M.
@ “Lem ¥ ® 5 xam

< L.C.M. x p(x) q L.C.M. x q(x)
©) 7 q(x) @) p(x)
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The symbol of Inequallty 18 .
(8) = (b)

(G). = (d) =2 v

g- Cartesion plane is divided inte ... quadrants
(a) 3 (b) 2
(c) 4V (d) 5

9- Distance between points (0, 0) and (1, 1) I8 =ee-:
(a) 0 (b) 1
(c) 2 (d) /2 vV

10- A ray has end points
(@) 1V (b) 2
(c) 3 (d) 4

11- In a parallelogram opposite angles are ----:
(@) Unequal (b) Equal / congruent v

(c) Non-congruent (d) Concurrent

12- A ray is called a bisector of line segment if it
- divides the angles into ---- equal parts:

(a) 4 (b) 3
(c) 2V (d) 5

13- [Equality of two ratios is defined as ---- :
(a) Ratio (b) Proportion v
(c) Equality (d) Congruent

14- Congruent figures have ---- area:
(a) Same v (b) Different
(c) No any (d) Empty

15- A triangle having two sides congruent is called --

(a) Scalene (b) Right angled
(c) Equilateral (d) Isosceles vV
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(Part-l)

2 Write short answers to any Six (6) questions: :
(i) Find the product:

i ?] iy

2

2(2) + 3(3) 2(-1) + 3(0) ]
[ 1(2) + 1(3) 1(=1) + 1(0)
0(2) + (-2)(3) 0(-1) +-2(0)
4+9 -2+0
[2 £3 1+ o}

0+0

e
(i) If 2 % 3[3 ]

the values of a and b.

Ans 2 Given,

2‘;22 143[8 3 :l-[3b 110:, .
[2(( 3)) 2%3;:' [358 3((—4?)] [ 110]

[4 8] [3 3b]_[7 10:|
—6°; 2a] |24 =12 "*[18 1

10
[ ; ] then find



As both matrices are equa|
1es must also be equal Thus, by ¢ rresponding

From (2); 2a - 12 = 1

2a=1+12
2a=13
8 43
82

(iii) Give a rational number between % and g ;

Ans 2 Number between '3' and '953

§_+5 27 + 20

(iv) Simplify:  (x3)2 =+ x?
LID Given: () + x3

=% . x3
= x8-3
(v) Express the number 0.0074 in scientific notation.

Ans_ Given the number = 0.0074
In scientific notation:



1000
= 0007" > 1000

: 1_”_
1000

1
= (7.4) » 102

=7.4x10
(vi) Calculate log, 2 x log, 81.
log, logg,

Ansg L il & il

~log, ~ log,

_10Gg; Jog 3*

100y ¢ log,

log,
— 4 'l"a—g—a— — 4

3x2\y + 6
(vii) Evaluate —JL

5(x + y) if x=-4andy=09,
EID By putting the values in the given expression:

3xA\Jy +6 _ 3(—4)2+/0 + 6
S(x+y) ~ 5(-4+09)
_ 3(16)(3) + 6




LD

=Xty x-y)-(x-y)
= (X=y)(x+y)-1]
SR ety ) (x Hy o)
3.  Write short answers to any Six (6) questions: 12

()  Use factorization to find the square root of:
1 1 1
2

Ans ey bt i se | B MRIGH B
Given: 16’(2"12’(3""363’2

By factorization:
fabasas e e LA
(a%) - 43x) (Gv)+ (&
it
P 4""6'3’)

R b bl o' s
~4*"6Y Z"“EV)

(ii) Define a linear inequality in one variable.

m_A linear Inequality in one variable x is an inequality
In which the variable x occurs only to the first power and is
of the form.




where a and b are reai numbers. We may rOplac.

he symbol < by >, s O .
lIll) ySc‘.tl\m the inequality: Ix +1<5x -4,
Ix + 1 <bx-4
Ix+ 1 ~-5x<5x~4- HX
2x + 1 <-4
I+ 1-1<-4-1
-2X < =5
Dividing by -2
-2 =5
g =2

X > g (change of sign)

(iv) Deﬁne co-ordinate axes.

EXD The plane formed by two straight lines perpendicy,,
to each other is called cartesian plane and the lines g

called coordinate axes. | |
(v) Verify whether the point (2, 3) lies on the line 2 _
y+1=0ornot.

Ans 2x-y+1=90
-y =-2x — 1
y=2x+1

As the points (2, 3) lie on the given line so put x =)
and y = 3 in the given line
3=2(2%+1
3=4+1
3 = Simpossible
So, the points (2, 3) does not lie on the line.
(vi) Define isosceles triangle.

LUD An isosceles triangle is a triangle which has two of
its sides with equal length while the third side has 3
different length.
(vii) Find the distance between the pair of points:

A(9, 2), B(7, 2)
EYD The distance formula:




d = /(% ~ X,)2 + (y, -y,
grom the above points,
x1=9.x2=7.y1=2.y2=2
By putling the values in the distance formula:
d=\f‘(7—9)2+(2-—2)2 |
=\(-2)? + (0)?

d=2
(viii) State H.S postulate.
D> According to H.S postulate:

If in the correspondence of the two right angled
triangles, the hypotenuse and one side of one triangle are
congruent to the hypotenuse and the corresponding side
of the other, then the triangles are congruent.

(ix) LMNP is a parallelogram.s

P ARRNI DY
/ 55

N

am{ n
/

% 655

Bm=4T ™M

10

4am+n =10 (1)
8m-4n=38 (2)
Multiplying equ (1) by ‘4’ and adding in equ (2)
16m + 4n = 40
8m-4n=28

N

24m =48
48

m=5,

[m=2]

By putting m = 2 in equ (1), we get:

4(2) +n=10
8+n=10
n=10-8



i) Define bisector of an angle.

Bisector of an angle is the ray which divides an
angle into two equal parts.

(i) 3 em, 4 cm and 7 cm are not the lengths of a
triangle. Give the reason.

D> A tnangle has the shap?

> (Not possible)

< 5 maﬁx+mA_§>m§C_3
S3+7>7
10>7:

As part (ii) is not possible, so 7 cm, 4 cm and 3 cm are
not the sides of a triangle.

(iii) Define proportion. '
Ans Equality of two ratios is defined as proportion.
(iv) State Pythagoras theorem.

Ans P right angled triangle, the square of the length of
hypotenuse is equal to the sum of the squares of the
lengths of the other two sides.
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(v) Find unknown value of x in gwen f'gure

- 2 om

1em

D> | et the above triangle is AABC. So, In right angled
AABC, by Pythagoras Theorem:

(MAC)? = (mAB)? + (mBC)?
(V2)? = (7 + (1)?
2=x%+1
2—1=x2

Ansg Length of the rectangle = 6 cm
Width of the rectangle = 3 cm

Area of the rectangle = Length x Width
=6x3
= 18 cm*
(vii) State congruent area axiom.

Ans 3T AABC = APQR, then
area of (region AABC) = area of A (region APQR).
(viii) Construct a triangle ABC in which:

mAB 4.8 cm, mBC 3.7cm, mZB = 60°

Ansg
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ps of Construction: i
Take a line segment AB = 4.8 cm.

5 Make an angle of 60° atB.

3 Cutoff BC = 3.7 cm from BP.

4. Join Cto A
ABC is the required triangle.
ilx)

Define orthocentre of a triangle.
Orthocentre of a triangle means the point of
concurrency of three altitudes of a triangle.
(Part-Il)

NOTE: Attempt THREE (3) questions in all. But question

No. 9 is Compulsory.
Q.5.(a) Solve the system of linear equations by usin
matrix inversion method: ( 4?

3x—4y=4,x+2y=3

Ansg 3x — 4y = 4
X+2y=38
3 2lGl-ls
1 21ty) L8
AX=B
X=A"'B (1)
5 ey
Where =1 Adj A
2
2

So, ,AI = l?

= 3(2) — 1(-4)
=6+4

4 | i
A '10[-1 3]

By putting the values of A~' and B in (1), we gei
X=A"'8B

EIE



Thus. the solution set I1s
h=4.y=2}

a\a+b Xb b+c x© c+a
(b) Show that: (—E;) x(‘;;) x(;;) = 1 (4)

I For Answer see Paper 2018 (Group-l), Q.5.(b).
Q.6.(a) Use log table to find the value of: (4)

- 0.678 x 9.01
0.0234

LD For Answer see Paper 2018 (Group-ll), Q.6.(a).
(b) If p=2+1/3, find p? +-;5.
D Given, p=2+ \ﬁ

1

5 +1 NE X -3—:3\% By Rationalization:
o 1(2-83)

T (2+43)(2-43)

i 2-g%

" (2% - (3Y?

_2-43

4-3

(4)

P
1
P
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P
ﬂ2¢\f5*2"'\]3
= 4

(p + %)2 = (4)*

p2+—1—+2=16

o

1
24—5=16 -2
P p?

Q.7.(a) If (x — 1) is a factor of x3 - kx? + 11x — 6, then

find the value of k. (4)
[ID put X~ 1 =10
.. X =

Given expression,
P(x) = x> - kx?+11x - 6
P(1)= (13 - k(1)2+ 11(1) - 6

=06 -k
For the value of k:
6-k=0
6 =k
= K=6
(b) Find the square root of: (4)

x4+ 123 +x* - 12x+4
EUD For Answer see Paper 2018 (Group-l), Q.7.(b).

5(x -3 X
Q.8.(a) Solve the equation: "(—6—1 = =3 el ls)

LY® For Answer see Paper 2017 (Group-Il), Q.8.(a).
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steps of Construction:

(i) Take a line segment éE =06cm.
(i) Take B as center and

that cuts the first afc at point A.
(iv) JoinAto B and C.

AABC is the required triangle.
(v) Take AP , me and éﬁ bisectors of angle A, B and C
respectively.
/ﬁ’ : E_E). 632 dre concurrent at point I.
Q.9. Prove that the right bis
triangle are concurrent.
Ans_ For Answer see Paper(') 2;)14 (Group-1), Q.9.

Prove that parallelograms on equal bases and

having the same (or equal) altitude are equal in
area. |

For Answer see Paper 2017 (Group-I), Q.9.(OR).

ectors of the sides of a




